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Trig, Sequence, & Financial Review

Find each measurement indicated. Round your answers to the nearest tenth.
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For each sequence, state if it is arithmetic, geometric, or neither.
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Find the explicit formula for the given arithmetic sequence. !
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Find the explicit formula for the given geometric sequence.
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Use a forrnula to evaluate each arithmetic series descrlbed
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Use a formula to evaluate each geometric series described.
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Find the indicated amount to the nearest penny.

19) Jill invests $5,393 in a savings account 20) Ndiba invests a sum of money in a savings
with a fixed annual interest rate of 8% account with a fixed annual interest rate of
compounded 2 times per year, What will 6% compounded 12 times per year. After
the account balance be after 10 years? 10 years, the balance reaches $2,183.28.

F V= PV ( ] “+ ¥-n A What was the amount of the initial
VOO - investment?
e\/: Bsqg (_:8 K= 2 h::“j FV:Z,E?).Z«? (2(0 \C""‘Z h'slo
121D
| - 2-1d 2183,28 = pPv
Fv= 95343 (I‘f ___Q«__a (= IOO 2 )
| e ev(e a0
2
- v X \ 3 / . . i
‘53(73(\‘*{&5 =01 81673/, L\?B.Z&’-(H L '
i

) ' V"' 2—00 ./ P\/
L oV = G\?,oo 00]|

R ——————————



